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¥ () 39 9EUa A oo 26 T €| Wt e s 2
(i) wA® 9o F o fraa 3ie 9% avE T T 2
(i) 5% W 1 ¥ 10 6 AT 7Y IJA 1 37 & UL & Feddb B I 20 I
A 31fere 7 21 7R T 1 ¥ 20 TP oY TR 3 3 & T & | T Bl IR
80 Tl & 31feres =1 A1 T R 21 Y 25 TF A IR 5 3D b WH & | D
&1 IR 150 o) § s 7 2| 7o I 26 AR § HhNfoid W o
YEIIE T S & e 2
(iv) &3 frea qom wRa & a1 aHfRE! B IR QRa® 3 FaE it
(v) WA W R &7 & fordr Sweie srar wefre &t s sEa 1
(vi) T 9 ¥ YRET DY AT 31T dF B e | 3 92 = 3111 8 I R I8
I T HRA|
Note : (i) There are in all 26 questions in this question paper. All questions are
compulsory.
(i) Marks allocated to every question are indicated against it.
(i) Question Nos. 1 to 10 are very short answer type questions carrying 1
mark each. Answer to each of these questions should not exceed 20
words. Question Nos. 11 to 20 are short answer type questions
carrying 3 marks each. Answer to each of these questions should not
exceed 80 words. Question Nos. 21 to 25 are long answer type
questions of 5 marks each. Answer to each of these questions should
not exceed 150 words. Question No. 26 is related to identification or
locating and labelling of geographical features on map.
(iv) Outline maps of World and India provided to you must be attached
within your answer book.
(v} Use of templates or stencils for drawing outline maps is allowed.
(vi) Start from the first question and proceed to the last. Do not waste

time over a question if you can not solve it.
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1. P ¥ ol < v v @ 82

Which of the following does not follow monoculture?

(i) SAPW ORLE KL
Dairy farming Mixed farming

(iii) o P (iv) aioTsT 3rTaT By
Plantation agriculture Commercial grain farming

2. 3G 33 P AW ad1 & I 7R P Gu=aH i 2|

Name the country which has the highest density of rail-route network.

3. o 3R dEsg # 3R qase|

Distinguish between Port and Harbour.

4. f=fofaa o 3 foa of § vgen e Sriww garka gam o

In which of the following years the first radio programme was broadcast-

(i 19N (i) 1927 (i) 1936 (iv) 1923

5. R AEWEL & S &1 389d qarsd|

Give any two objectives of 'National Highways'.

6. fr=faRad & ¥ B 41 3967 auf &1 v HRoT &-

Which one of the following is the cause of acid rain -

(i) 37T ST | (i) ¥ wgmor
Water pollution Land pollution

(i) ¥R IgIOT (iv) TR UgEvI
Noise poliution | Air pollution

411 (IMH) | [2]



7. <arR ¥ 5 a1 adatie areFl & W qasd|
Name any two public means of communication.
8. JIaxiEus & fol & anffie TRi & =W folRad|
Write the nhame of any two religious towns of Uttarakhand.
9. U WYR" & &7
What is "free trade"?
10. Fafafea 4 9 oF-91 v gelas fsaea € -
Which one of the following is a tertiary activity-
() T (iy TS (i) IR
Farming Weaving Trading
11, AME ya & fvads w uon fRed)
Write a note on the scope of Human Geography.
12. Joa Qe 38y & WEHe B W Bt |
Clarify the concept of High Technology Industry.
13. IRAREIGR Yot Far 8rar &2 fHl & &1 Areera o |
What is trans-continental railway? Mention any two of them.
14. TTE T GHES & AEe Siiod |
Assess the importance of Common Property Resources.
15. ¥Rd & WE UK IS &1 & fqaxor A
Describe the major cotton producing areas of India.
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16.

17.

18.

19.

20.

21.

A & 7 arferet # wRa § o Tl g1 R &1 fawaR widera feramar war )
AT T TG BT T IS e T BT IR G- 1%241%2=3
The following table shows the extension of irrigation in India by various means,
in their percentage. Study the table and answer the questions that follow -

e TR P GISIES i
Means canals wells ponds others
HcreTe

Percentage 40.5 26.00 7.00 26.5

(®) Taittes Rio &1 9= o &2 399! BROT Qe

Which is the most mean of irrigation? Give its reason.

(@) 3= areET S Riag o1 wfcerd fooawn &7 @@ dror € afsw)

What is the percentage of irrigation by other means? Give its reason also.

TG JRIe™ A Gt 3 3a7 @ {59 yeR 59 mearee far? 3
How did the Swadeshi movement give a major impetus to the cotton textiles
industry?

UTBUETS URGE ¥ @ v B a8y 3
Give advantages and disadvantages of pipeline transportation.

TTIOT F TR STl § SMERYA 3R g5 | 3

State the basic differences between rural and urban settlements.

HRA H TRIG FT-IRBE RAROT Tl THET3 T Jevid DI | 3

Mention the problems associated with the urban waste disposal in India.

WRG ¥ ST & 390 faaror & sRol &1 gof= Hifs| g
Describe the causes of uneven distribution of population in India.
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22.

23.

24,

25.

26.

frwa & wepRy g0 SeqTEe 81 BT I A T I W it 3 graise S|
5
Mentioning the major dairy producing areas of the World, assess their main

characteristics.

fea & wip wRyfee Wit @1 3eevE SR @ g Wiifers wee &1 AeaiaT Ao |
5
State about the principal ocean routes of the world and assess their

geographical significance.

A feT AT &7 aar WeRET A R B wR o) IRefia st &7 R SR
o 5

What is Human Development? Can literacy reflects the status of Human

Development? Discuss.

fmraeiier 29t & sy afaa) & wr=ams & e S 5
Discuss the probiems associated with Urban Settlements in developing

countries.

(®) & T fva ¥ worifae Y@ g § ar a2 ), Gi), i), (iv) % w9 § 2o
T & A & R YT & R W T2l B ygaf qen amhe ¥ fifea rw
I I8 W faRe- ax4=2
() Wifdgs w9 1w i &
(i) G A7 ARSI BT TG 7 IUES &F
(i) FArEa Yaftes Yo o1 ofdad efife R
(iv) el sARer 1t W & R

411 (IMH) [5] [P.T.0.



(&)

(a)

(b)

frifdse @1 wRa & & Wy wramifas X A 8 auifed den 3% e ot A o
FREY - 1x3=3
(i) T e

(i) IR I BT 3RO I

(i) IMFS D &

In the given outline political map of the world, four features are shown by
(i), (ii}, (iii) and (iv). Identify the features with the help of the information
given below and write their correct names on the line marked on the map-
(i) Principal industrial region of Soviet Russia

(i) Principal oil producing area of United States of America

(i) Western terminal city of Canadian Pacific Railway

(iv) An important river basin of South America

Locate and Label the following in the given outline political map of India and
write their names also-

(i) Hugli Industrial Region

(if) Leading Cotton producing State

(ii) Raniganj Coal Field '

A gied= ahanf¥il &g e w26 B WA W 2

Note : For blind candidates in lieu of question no. 26

FrefomRea weet & 3R Afse- 1x5=5

(M
(i)
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(i) PAfET= ORaftes Yoa & al¥entt efifma R @1 9w sarsa|
(iv) afon MR & ve §ad -ia) SR &1 A §ad|

(v) ¥RA & W@ I 3RS 5T BT 911 qd1g |

Answer the following questions-

(i) Name the principal industrial region of Soviet Russia.

(ii) Name the principal oil producing area of United States.

(i) Name the Western terminal city of Canadian Pacific Railway.
(iv) Name the major river basin of South America.

(v} Name the major Tea producing state of India.

& Ak kK
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